— o Y = @ n Adigdo até 100 (horizontal)

Nome: Encontro: Data: Pontuagio:
62 +43 = 93+ 10 =
43 +29 = 48 +45 =
21 +81 = 87+ 71 =
99 + 65 = 44 + 49 =
67 + 69 = 21 +4 =
57+46 = 16 + 84 =
97+ 71 = 93 +87 =
63 + 80 = 05+ 14 =
48 + 80 = 40 +27 =
48 +79 = 95+30 =
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=, S = T, Bl

Adigao até 100 (horizontal)

Nome:

62 +43 = 105

43+29="T72

21 +81 =102

99 + 65 = 164

67+ 69 = 136

57+46 =103

97+71 =168

63 +80 = 143

48 + 80 = 128

48 +79 = 127

Encontro: Data:

93+10 =103

48 +45 =93

87+ 71 =158

44+ 49 = 93

21+4=25

16 +84 = 100

93+ 87 =180

95 +14 =109

40+ 27 = 67

95 +30 =125
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Pontuacao:
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